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ALS - 3
Lecture 3:  Operations on Sets

The union of two sets is __________________________________________________________________ .

The intersection of two sets is _____________________________________________________________.
If the union and intersection of two sets are the exactly the same, then ____________________

Two sets are disjoint if  _______________________________________________________________ .

The complement of one set with respect to another one means  __________________________________.

The bar symbol, as in A, when used in describing set operations, means _________________________ .

The symbol
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, when used in describing set operations, means _________________________

In words, “commutative” means _________________________________
In words, “associative” means ___________________________________

In words, “idempotent” means _________________________________

Two properties of the universal set are  ____________________  and ___________________ ___.

Two properties of the empty set are  ____________________  and ___________________ ___.

DeMorgan’s Laws state that A U B = ____________________

DeMorgan’s Laws state that A ∩ B = ____________________

The inclusion-exclusion principle states that |A U B| = ____________________

To show that one set is a subset of another,  _________________________________________________ .
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